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	1. 
	Who did Timbird belong to?  (23)

	a.
	David

	b.
	Diego

	 c.
	Pasqual

	d.
	Doroteo



	2.
	Diego fought Delfino when Delfino hit his            .   (57)

	a.
	Burro

	b.
	Dog

	 c.
	Sheep

	d.
	brother



	3.
	Sheep don’t get up when           .   (73)

	a.
	Their feet are higher than their heads

	b.
	They smell water

	 c.
	They are cold

	 d.
	They are hungry



	4.
	What killed Doroteo?  (93)

	a.
	Poisoned food

	b.
	Lightening

	 c.
	A fall from a cliff

	d.
	A drunk driver



	5.
	Bueno was taught to follow           signals.  (100)

	a.
	Arm

	b.
	Dog whistle

	 c.
	Piccolo

	d.
	Smoke 



	6.
	Who did Pasqual find had eaten their mutton in the food bag?  (115)

	a.
	 A lion

	b.
	 Their dogs

	 c.
	 A black bear

	d.
	 A raccoon  
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	7. 
	Who did Mr. Cameron choose to replace Doroteo?   (121)

	a.
	Diego’s father

	b.
	Diego

	 c.
	Pascual

	d.
	David



	8. 
	Why hadn’t they known Buhito was missing?  (144)

	a.
	They fell asleep

	b.
	He took off after they left camp

	 c.
	He had been loaned to Pablo and Gregorio

	d.
	They were too busy worrying about the sheep



	9. 
	Where did the water come from that gave the sheep early water?   (150)

	a.
	From a chuck wagon 

	b.
	From the spring David and Diego found

	 c.
	From a mirage

	d.
	From a wind mill



	10. 
	What did Diego and David get as reward for their work?   (155)

	a.
	Ewes

	b.
	A dog

	 c.
	New boots

	d.
	$50
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